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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-10_0

minFVI
minFVO

Warning: col [['minFVlraw , 'minFVOraw’ ] is missing

o ETcAlraw
—  ETcA1
—@— ETcA

missing

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

5000

4500

4000

3500 -

3000 -

2500 -

2000 -

—@— ECopt
—0— ECI
—0— ECO

=R o 8-

) oo 074

"_._.---— N

1500

Warning:—cot--ECC ] —is missing

Warning: col [['PHC’'] is missing

6.0
1 1 1 . 1 1
31.5 1 : —@— WCperM
1
1
31.0 + 1
1
1
1
30. 5 1
1
1
30.0 -Wﬂ*ﬁmﬁ—ﬁ*—m
1
1
29.5 - :
1
1
29.0 - |
Warning: col [ WCperMraw', 'WCperMavg'] is missing :
28.5 1
1
1 1 1 . 1 1
0509000000000 000000000000 0000000090000 0000000000000 00909000000
1
1
1
0. 45 ~ i
1
1
1
0. 40 + 1
1
1 —@— minDeltaM
0. 35 : —®— avgDeltaM
: —@— stdDeltaM
0.30 —W*Hﬁm%—ﬁfm
1
1
0. 25 - |
1
1
0.20 p—0O0—C0—0—0C0—0O—C—0—0C0—0—C0C—00—C0—0—0—00C0000—00—0—C—00—00C0—000C0—00—000000C00C—00—0000C0—C—0—0—C
1
1 1 1 . 1 1
0000000000000 00000090 000900000000 00000000 000000000000
30 ! —8— begM
: —0—  maxM
98 : —&®— minM
1
1
1
i 1
26 I
1
24 ~ 1
1
1
1
22 :
1
1
1
20 —O0—C—0—C—0—0—0—0—C—0—0—0—C0C—0—0—C—000C—00C—0C—0—00—0C—00—0C—00C—C0—0b—00C00—0C—0—0—C—0—0—0C—0—C—0—C

adjFVOR

Warning: col [["adjFVIRraw’, "adjFVIR, "adjFVORraw ] is missing

0. 65 -

0. 35 A

FRA
FRC
FRraw ®
FR

60

59

58 -

57 -

56

55 -

54 ~

53 A

52 A

—@— beg wc

0 10 20 30 40 50

175 -

150

125 A

100 -

75

50 A

25 A

o postFgEtraw
—0— postFgEtavg
—@— postFgEt




- 100

- 60
- 40

o
N o
1

T
T2

ywwnvv

7S

[ _ﬂ-

Y /m««v

FgDai ly
&



— P > s—— B
—— T _— L — ]
<5 ﬁ < T -
e = = —
[ «< o o _

> > MV P

— T

/ N/

/ b :

0000000000
00000000




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

| 1
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai  pR pVPD VN |

PPFD

T

1.0

0.8

0.6

0.4

-0.2

-0.0



800 oo o o i o % ® o0 o
e o ° © ® o0
° ° ° e
) ° ° )
600 - * o ° ° o A ° o
—_ e ® ) ..
o
© o0 °
“ 400 1 ¢ ° ¢ °%e °*° .
2 ®e () o ® T 0 ) °
o Lol e ° o ° |° o8 o oo’ * 8% 8
° ° oo o ed ° PS e e ©
200 ° o o ©® e o o %o
° . ® . 1 . .o o °
® ¢ ° ® o ¢ o ®® ) ®
o oo oo o« < o ¢ 4§
. K o oo oo oo ® ° o %o, ww ° o % ce®
. T T T T T T - T T T T T T T T T T T
) °
1600 % o o ° ot *e %
°e® o0 ° o’ ° ° ° “
1400 o o ,$ o %% o | 0% %o o ® o O
o o %, o o0 o® o 1 aecle o ° °o® ©”e o
° ° ° Oa ® o %% @ "o e @ o0 ¢ o 9¢° o°
12001 o . ° °e & ° oo % « © Y Y
_ [ ®e . o o o ¢ ° S°
° °
2 1000 A ° ¢ o ° ° R ;o. o
800 - | o o °e
600 o o ° R ° . N
(] N (] [ ] ) L ] e
4001 o
° i
® (]
T T T T T . .
T T T T T T T T T T T T
. . . T T
° e o °, ° e
20| ee® o o O
A o ° 1 Co % ¢ o° oo oo
a o o © ° °® e O
e ° S %o, o e o % o ®© o _o
18 LD ° ° . ¢ °% o o ° o ©
— o ° i ¢ .. ° ¢ ¢ i
'Y ®
° )
16 1 °® ° ° 00 ° ¢ ° ® o :o P
$ ° il @® o ° ° o ° LR
LY ve [ ] ° ° ® .‘). ®
144 o . ] ° ¢ ® o . o
° )
o. ° ° °
| °
12 T T T T T T T - T T ° T T ° T °
o . T T T T
° )
80 ~
[ ] o ® i
°
70 e ® ° °
°, ) ° ° ° y
® o0 ° e o ° °
o ® o [ ]
=60 ® ° S °eo s, o
.‘ . ° °, ° ® o4é °
& o .o ° o.@. o e o: .., .
] ® a ) ®
501 © @ o o 2 :..o .o g;
. o s o 0, ©
wl®® @ o :. s
[ ] ® e ..
T T T T T T T T .
. . T T T T T
) °
e . ° ° ¢
500 | .. ® o ©° o« ® o o« o o ° °
° o°® ° . 4 e
e ©
600 - i
S : e ° ¢
400 - %° o J . o K °
® o o0 * {1 o © ° o
' . ° . > °°
® L ® o P () .. ° ()
2001 o-0% oo ° o ° 1 ° ¢ ¢ ’
é ° e ®e > ®e ® y
o0 ° ¢ . o ’ ° ¢ ’
& o %¢ o o o0 ® oo ®
012 @ T T T T |. .| o ° ° ° ° T .. °° e % ... ...!
400 o ' ' ' ' . . ; :
® © ° o’ o o % o o ’ e ® o °
i e O o ) ° « ol - e® © °
350 o @ ° ° o 0% o ° » e ©
s » ...O ¢ .... ° (0.2, '8‘. ® 's.g ... o o «@ .O..O. (..). s .30 0 ® ¢ O. ° [ ] ® ()
v e ® o ® ° [
300 Y ® ° (] [ J ([ )
° ° ° 0@ e {4 ®© °
»50 - ° ° o ¢ ° °e .o o ° ..: ° o ©o o o
[ ] ® —
— o, ® ®
9 °® ® ®
200 @ N ° °* o®
o ° ° - o o ° °
150 ~
100 ~
) ° i
504 @ ° °
0 2(I)0 4(I)0 6(I)0 860 I I I I I. I I = I I - l
500 1000 1500 12.5 15.0 17.5 I I I I I
ETol ETol . . 20.0 40 GgH 80 0 250 5’\(‘)0 750 100 200 300 400
|



2000 -

1750 ~

1500 ~

1250 ~

1000

750

500

250 -

obs
Fit

100 150

baiA

baiB

1.0

0. 5161

0. 0261

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.6 0.8

1.

obs

800 -

600

400 ~

200 -

Fit vs obs: a=1.21, b=-114.9, r=0.85

1.0

600

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2 0.4 0.6 0.8

1.

0



hour

100

8:55
80

10:10
11:35 - 60
12:55 - 40

14:20
20

18:30 -
! ! ! -0

""@ <$’ % & "




P3-10

Bfig) | BB (FD) | JEBE (BFA/HK) = EFE

08:55 288 150.0 M| FifAe08:55 KHIEF (KBEEE)
10:10 288 150.0 | FHA@10:10 KREFEF (RAERSE)
11:35 288 150.0 f|  FHERe11:35 REFEF (RKAERE)
12:55 288 150.0 fl|  FHERe12:55 REFFEF (REAERER)
14:20 288 150.0 M| FiH#fe14:20 kEIEF (KAEEEE)
=it 1440.0 (5)%) 750.0 3ESHKEC: 2080.0, PH: 6.0

REREBIEC (2620.0) HiZEEC (2000.0) REK KA, BHEE
HEEIHECE (2620. 0 vs 3480.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-10_0, Day=37 (2025-05-09)

698

20

VI, VB*¥RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1200

00

910

00

- 1500

- 1000

T
[$))
o
o

T
o

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.0

300 -

200

100 A

1.0

ByWoFv @D37

3:08: ET=910 Fg=750.0 Ro=25.0

=

?
:

&
3

- 1000

- 500

2

N
(S}
=2}
~
o0}
©
—_
o

21

22

23

0.8 LA™

A

FA

| MO [ BA [ M [ @ [ M| | M

A

FA

A

0.6 1

0.4+

0.2~

800 4
600
400 -

200 -

A A Warhing:,‘:ol

"PPFD_obs’] is missing

20 A

15

10 ~

'To_obs' ] is missing

80 A

60

Warning: lcol ['RH_obs’,

"RHo_obs’ ] is miss

0.2 0.4

0.6

0.8

1.

0

FRV (ml d-1)

cumET (ml/plant)



hour

100

7:35
80

8:45
10:30 60
11:35 40

12:45
20

14:00
1 1 1 1 _O

% & & B XS B




P3-10

BfiE) | EBIETK (D) | EB=E (EH/EK) | XK EFE

07:35 288 130.0 (£ Z=| 1Ri&@07:35 Bzh (kAEREE)
08:45 288 130.0 |Z=| 1Ri%e08:45 BHzh (RFIEREE)
10:30 288 130.0 (2 =| 1BRi%@10:30 Bz (kAFERESE)
11:35 288 130.0 BE| Rige11:35 Bz (REAERSE)
12:45 288 130.0 B5| Ri%e12:45 B (RRAEEEE)
14:00 288 130.0 (Z=| 1Ri%@14:00 Bz (KRHEAERSE)
24t]1728.0 (6%) 780. 0 3ESHKEC: 2080.0, PH: 6.0

TERRHER 2 STEEART (187.0 :

ZRIASEPRIERE153. 0 ml.

large discrepency for begining water status (141:288.0), set to 141 ml.

153.0), AIEEHT—@ % XA HS
LoRGERRETC (288) 574 (245. 0) FF, FIREHI T & MG EIRS £ XER

REREEBIEC (2625.0) H5iZEEC (2000.0) REKK, HHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=36 (2025-05-08)

VI, VB#H¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1496 1 500
100 41200 1200 224 =
I
61 o3F 1000 =
E
50 >
Warning: lcol [FVI',| "FVO’'] missing
04 r0
p00 | =V — mE §30.0
FRV maxM L 57 5
150 A "
F25.0 _
100 =
F22.5
50
-20.0
1.0
4
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 { . - - - A
ByInit @D37 {)3:08: ET=1013 Fg=1040.0 Ro=38.0 L 1500 =
2
: &
200 - : L1000 =
1 E
1
100 7 : - 500 '“_g
1 5}
o e oo | I
0 pb—an P — | ——— 0
300 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
FH BH BH |#=]| M BH fg i g 5 i 5 FH BH [A FH FH BH [A FH FH 55 55 M | 1500 i~
1 c
200 4 ByEt @D36 19:05: ET=945 Fg=1224.0 Ro=nan <] e @ © %’_
| X
o—e &—o 1000 \E
'—
100 1 -500
[&]
0 —a —: 4: e R 0
300 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
FH BH R EFRERER ER EA ERAERAEAEE REEREES R BH |/\f9| PBH FH FH [H [A P | 1500 5
1 c
200 4 ByWoFv @D37 93:08: ET=823 Fg=780.0 Ro=26.0 %
- 1000 >
E
100 1 500
3
1.0 0
0.8 - FH BH R EFRERER ER EA ERAERAEAEE REEREES R BH |/\f9| PBH FH FH [H [A FH
0.6 -
0.4
0.2 A
0.0
—_— 4
[ ] | _obs
—@— PPFD obs
4
80 -
60 RH
[ ] RH_obs
(] RHo_obs




23.

23.

23.

23.

22.

22.

22.

m=435, FV0=0 m=525, FV0=0 m=635, FV0=0

01 5] —® ME 23.75 —o— ne | *47 e nmeE
24.2 1
21. 4 - 23. 50 -
24.0 -
21.2 1 23. 25 -
23.8 -
21.0 - 23.00 -
23.6 -
20. 8 -
22.75 A 23. 4 1
20. 6 -
22.50 23.2 -
T T T T T T T T T T T T
600 800 1000 455 460 465 525 530 535 635 640 645
m=710,m FV0=0 m=775,m FV0=0 m=835,m FV0=0 m=905,m FV0=0
—— ME |, | ME —0— ME | 94 5 —o— ME
24.5 -
24.0 - 24.5 + 24. 25 -
23.8 - 24.00 -
24.0
23.6 1 240 23.75
5 23 4 - 23.50
23.5 -
23.2 1 23.25
T T T T T T T T T T T T
710 715 720 775 780 785 835 840 845 905 910 915
m=1010m FVO0=0 m m=455,m FV0=0 m=525,m FV0=0
47 —o— ME 34 - 32 1 —o— MW 34 —o— MW
2 31 -
32 4 33
0 30 -
- 32 -
8 30 - 29 -
° 28 317
28 -
4 -
—— MW 27 - 30 -
1010 1015 1020 600 800 1000 455 460 465 525 530 535
m=635,m FV0=0 m=710,m FV0=0 m=775,m FV0=0 m=8395,m FV0=0
34 - o— nu —— MW —-— MW —o— MW
33 - 34 - 34 -
33 - 33 4
32 - 33 -
32 392 4
31 A 392 4
31 31 -
30 - 30 4 31 -
30 -
T T T 29 L T T T 29 ] T T T T T T
635 640 645 710 715 720 775 780 785 835 840 845



m=905, FV0=0

34 1 —— MW
33 1
32 -
31 1
30 L8 | |
905 910 915

m=1010, FV0=0
34 4 —o— MW
33 A
32 ~
31
T T T
1010 1015 1020




hour

100

8:50
9:50 80
10:50
- 60
11:50
- 40
12:50
15:00
1 1 1 1 _0
B &L B LB
FFELSE S




P3-10

Bfie) | GEBEETIC (7)) | EME (EH/HK) | XS EFRF

08:50 288 130.0 RS {Ri&e08:50 Bzl (RFMEESE)
09:50 288 130.0 |Z=| 1Ri&@09:50 Bzl (kPB{EEEE)
10:50 288 130.0 | 1Ri%@10:50 Bz (REERESE)
11:50 288 130.0 S| Ri&e11:50 Bz (REERESE)
12:50 288 130.0 B Rige12:50 Bz (REAERSE)
13:50 288 130.0 B 1Rige13:50 Bh (REAEESE)
15:00 288 130.0 BE| Rige15:00 Bz (REAEHE)
23t]2016.0 (70%) 910.0 ZHKEC: 2080.0, PH: 6.0

TERRHER 2 STEEART (187.0 :

ZRIASERRIERE153. 0 ml.

153.0), AlEEHT—@ % XA HS
LoRGERRETC (288) 574 (245. 0) FF, FIREHI T & REEIRS £ XER

REREBEEC (2575.0) Hi&EEC (2000.0) REIK, BHE




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=35 (2025-05-07)

ET (ml/hr/plant)

VI, VOS8RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1496 | Lx00
100 41200 1200 224
026
58 - 1000
50
40 60 - 500
Warning: lcol [FVI',| "FVO’'] missing
04 r0
2004 V! — ME B30
FRV maxM
150 A
- 25 w
100 =
50 L 20
1.0
"
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
908— 1 1
Bylnit @D37 93:08: ET=1160 Fg=1170.0 Ro=40.0 [ 1500
1
200 1 : e e 4%.=.
1 - 1000
1
1
. L —
100 : - 500
1
1
—a o ¢ i S 0
308- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
iE | B | B | B | B | B|[mB|B| B | B B 5 5 5 B 5 5 5 B & | FB [ BB | BAH | BA | 1500
1
200 4 ByEt @D35 19:06: ET=1088 Fg=1224.0 Ro=nan € . © @ ©
&——&—9 |00
100 ~ L 500
g ¢ _— ||,
308- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
BB | B | BB | B | B[ZE|Z| B [Z25] B 5 5 5 5 5 5 B |Z=|Z=| B | BB | BB [ BA | 1500
1
200 4 ByWoFv @D37 03:08: ET=1026 Fg=910.0 Ro=31.0
' &—6—6—90 | 4
: & e e o
1
100 ~ : - 500
1
1
W —— = e — 0
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
BB B BB B2 | E Rl BB B BB B %% 221521 R B H 3
0.6 -
0.4
0.2 A
0.0
1500 — | N
[ ] | _obs
1000 n _._ PPFD_ObS
500
0
RH
RH_obs
RHo obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=470, FV0=0 m=530, FV0=0 m=610, FV0=0

26 - _
—o— ME 25.007 _o— wE b5 g |~ WE
25 A 22.5 4 24.75 -
25. 6 -
24 - 24. 50 -
25. 4 -
22.0 -
93 24. 25 - 25 -
22 - 24.00 4 25.0 -
21.5 -
23. 75 - i
21 24.8
T T T T T T T T T T T T T T
500 600 700 800 900 470 475 480 530 535 540 610 615 620
m=685,m FV0=0 m=750,m FV0=0 m=805,m FV0=0 m=885,m FV0=0
25.5 — ME - MNE 95.0 - —e— ME —&— ME
25.0 -
25.0 - 24.0 -
24.5
24.5 -
24.5 23.51
24.0
24.0 -
24.0 23.0 -
23.5 -
T T T T T T T T T T T T
685 690 695 750 755 760 805 810 815 885 890 895
m=925,m FV0=0 m m=470,m FV0=0 m=530,m FV0=0
33 -
- ME —— MW —— MW
24. 4
34 - 39
24. 2 341
31 -
24.0 32 1
0 33 -
23.8 30 1
30 -
23 6 N 29 _ 32 .
23. 4 28 - —&— MW 28 - 31 4
925 930 935 500 600 700 800 900 470 475 480 530 535 540
m=610,m FV0=0 m=685,m FV0=0 m=750,m FV0=0 m=805,m FV0=0
34 - — My —— MW —-— MW - MW
33 - i
23 33
33 -
32 - i
32 - 32
32 31 4
31 31 A
31 - 30 -
30 - 30 4
610 615 620 685 690 695 750 755 760 805 810 815



m=885, FV0=0

34 -

33 -

32

31 -

30

29 -

——

M_W

885

T
890

T
895

m=925, FV0=0

35 A
—— MW

34
33
32

T T T

925 930 935




hour

100
7:40

8:40 80
10:00

- 60
11:05

- 40
12:15

14:45




P3-10

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

07:40 250 120.0 RE| {Ri&e07:40 Bzl (REERS)
08:40 250 120.0 Rg| 1Ri%e08:40 B (KL
10:00 250 120.0 FA| {Ri&@10:00 Bzl (GkAEEE)
11:05 250 120.0 S| Rige11:05 Bz (REAERE)
12:15 250 120.0 S| Rige12:15 Bz (REAERESR)
13:30 250 120.0 el Rige13:30 Bal (REAEHE)
14:45 250 120.0 (2 =| BRige14:45 Bz (GkBFERSE)
23t]1750.0 (70%) 840.0 ZHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEIEART (162.0 :

ZRIALPRERE128.0 ml.

128.0), FAlEEHT—@ % XA S
AEREMEC (2565.0) 5i%EEC (2000.0) REL KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=34 (2025-05-06)

VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 1458 L 1500
100 - 1200
152 ‘fl_\
63f 1000 °
£
50 :
240 324 40 - 900 fr
I64 I165 Warning: lcol [FVI',| "FVO’'] missing
i r0
208( .V — ne p30
150 - FRV maxM
100 +
50
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
808 7 1 2000
Bylnit @D37 {)3:08: ET=1209 Fg=1170.0 Ro=39.0 o
: - 1500 §
2007 | e—o—e—o—o <
! L 1000 =
1
100 - i e e B 5
! L 500 £
[&]
b o - o e e T
i S S— | PS PN PN I — 9
308-, 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 [ 2000
=z|2=| B | BB | BB | B |B| B | B B 5 5 5 B 5 5 5 B 5 5 5 B 5 o~
1 - 1500 §
200 4 ByEt @D34 18:35: ET=1051 Fg=1170. 0 Ro=nan I %_
o—|-o—o—o—o—=o =
—¢—e—e—© | 1000
1
100 - — § - i i
! L 500 £
[&]
p—— © @ 1
308-, 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 [ 2000
s=|%Z=z| BB | BB | A |Z2=| BB [ KB | B | B[ M 5 5 NERERERERERAER EAEANE 5 o~
1 - 1500 §
200 4 ByWoFv @D37 93:08: ET=863 Fg=840.0 Ro=26.0 %_
X
: —o—o—o—o0 | 1000 =
1 @ L @ L @ @
100 - : TH __g 500 ""_é
1 \ 3
= e &
1.0 P : : : — | —— 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0slZ2=|Z=|H | A | B [ | 5 [R5 [BE | B5 | FA 5 5 NERERERERERAERA EAEAR 5
0.6 -
0.4 1
0.2 A
0.0
1500 3 — | t
[ ] | _obs
—@— PPFD obs
4
80
60
RH
4041 @ RH_obs
(] RHo_obs




m=535, FV0=0 m=590, FV0=0 m=645, FV0=0

25.5 - 05 5 25. 25
- ME ' —o— ME —&— ME
25 25.0 A 25. 00 A
25.0 A
24 7 o o o o o o 2450 -
24.0 A 24.5 '
24. 25 A
23 23.5 A
24.0 24 00 4
' 23.0 A
T T T T T T T T T T T T T T T
500 600 700 800 900 1000 544 546 548 590 595 600 645 650 655
m=710,m FV0=0 m=765,m FV0=0 m=805,m FV0=0 m=860,m FV0=0
24.75 A
24 50 4 —-&— ME —&— ME 24.75 A —@— ME 2450 - —&— ME
24.50 -
24. 25 24. 50 - 24. 25
24. 25 -
| 24. 25 A 24. 00 -
24.00 24. 00 -
i 23.75 A
23.75 7 23.75 4 2490
i 23. 50
23. 25
23. 50 A
23. 25 - T T T 23. 25 - T T T T T T T T T
710 715 720 765 770 775 805 810 815 860 865 870
m=950,m FV0=0 m=975,m FV0=0 m m=535,m FV0=0
i 34 i
2347 _o— ME —— ME 31.00 aa—y
23. 8
23. 2 30. 98 -
23.6 32 -
23.0 A 30. 96 A
23. 4 A
22. 8 30 30. 94 -
23.2
22.6 30. 92 A
23.0 1 28 1 —— MW
99 4 - ] =] 30.90 -
950 955 960 975 980 985 500 600 700 800 900 1000 544 546 548
m=590,m FV0=0 m=645,m FV0=0 m=710,m FV0=0 m=765,m FV0=0
34 33 A
-@— MW -— MW -@— MW -@— MW
33 A
33 N 32 . 32 N
32
32 - a1 31 -
31
31
30 A 30 A 30 -
590 595 600 645 650 655 710 715 720 765 770 775



33.

33.

32.

32.

31.

31.

30.

m=805, FV0=0

—o—

M_W

805

T
810

815

33.

32.

32.

31.

31.

30.

30.

m=860, FV0=0

—O—

M_w

860

T
865

870

32.

32.

31.

31.

30.

30.

29.

m=950, FV0=0

——

MW

950

T
955

960

m=975, FV0=0

34.0 -

33.5 A

33. 0 -

32.5 A

32.0 -

31.5 4

—0—

M_w

975

T
980

T
985




hour

13:15 - I

I I I I I

o “’ % R oo & e QLB
N \i ‘\z)‘ ’\i A '\ X IR Uy
S oY A K ’@‘ SET N % - X 3
< < ’%' >\ ? ) _&f&& ,737 gé\

100

- 60

- 40

20



P3-10

BHiE) | FEBIATIC (D) | JEME EH/H) | X5 ERR
15:40 250 130.0 PA| 1Bi%015:40 B3Eh CGRAAERSE)
2it| 250.0 (1)%) 130.0 32353 KEC: 2080.0, PH: 6.0

FEREHEME STEAEART (162.0 : 128.0), AIEEAT—@E XAH5
ZRIASEBRIERE128.0 ml.

large discrepency for begining water status (84:294.0), set to 84 ml.
REXEEBIEC (2610.0) 5% FEEC (2000.0) REKR A, HHRE



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=33 (2025-05-05)

100 A

50 A

208
150 -
100

50 -

1)‘/(% VPRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

07

32
5
Warning: lcol ['FVI',| "FVO'] missing 24I%4 II§I32

40

- 1500
- 1000
- 500

-0

- 25 LIJI

- 20

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

200

100 -

1
ByInit @D37 p3:08: ET=916 Fg=910.0 Ro=32.0

a e

- 1000

- 500

|

0 1 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

200

100 -

B | BR[| BB | M [BA | M | M [ | BA | BA [ M | BA[BA | M | m [ | M | W [/M ]| M| [ ]|
1
ByEt @D33 18:35: ET=368 Fg=260.0 Ro=nan !
l
1
]

- 1000

- 500

Agﬂ.‘4_1!:::!E:::!E;;:‘::;;!r==qp-—4b-=l====l E ——8—8—8§
e—o—o0 —o—o 036 C—
5 3*4’-—5——. = = IJ — 1

—2
0 1 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

6
BH | BH [ BA [/l BR | & |/ /e | /Aven | /v | Bem | FEm | B [ BA [ BA [ BA [ BA | BA | BA | BA | BH | FH | A

200

100 -

1.0 A

1
ByWoFv @D37 93:08: ET=232 Fg=130.0 Ro=0
]

e — — — — S F

- 1000

- 500

t;%;!? _L!Pg}#oﬁ~o———-o———-o~———0———4D——-4!::jj!jj:f?"".P__—‘t:j:ft:ii::::;;jiji;: :i :i ;: :i :

a a a
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8

B | BH [ BA [/l BR | & |/ /e /e | /v | Bem | FEm | B [ BA [ BA [ BA [ BA | BA | BA | BA | BH | B | A

0.6

0.4+

0.2~

800 4

600

—_—
o | _obs
—@— PPFD_obs

40 1) —— RH

: o RH_obs

20 ' ([ RHo_obs

—~

d-1

FRV (ml

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



21.5

21.0 A

20.5 -

20. 0 -

19.5 A

M_E

500

660 760
m=460,n FV0=0

T
800

T
900

30 A

29 -

28

27 -

26

——

M_W

460

T
465

470

m=460, FV0=0

20. 4 A

20. 2 A

20.0 A

19. 8 4

19. 6

——

M_E

460

465
m=850,n FV0=0

T
470

32 A

31 -

30 -

29 A

——

M_W

850

855

860

m=850, FV0=0

21.6

21. 4 -

21.2 -

21.0 A

20. 8 -

20. 6

——

M_E

850

T
855

860

32

31 4

30

29 A

28

27 A

26

M_w

T
500

T
600

m

T
700

T
800

T
900



